Punnett Square Problems – Monohybrid Cross

Name _________________ # _____
Complete a Punnett square, give the phenotype and probability for each offspring.

1. Green tail feathers are dominant (T).  Blue tail feathers are recessive (t).  A male parrot is heterozygous for green tail feathers.  Predict the appearance of the offspring if the male mates with a female that is also heterozygous for green tail feathers.

2. The gene for long tentacles is recessive (l).  The gene for short tentacles is dominant (L).  A female yellow sea anemone has long tentacles.  If it mates with a male that is homozygous for short tentacles, predict the length of the tentacles of the offspring.   

3. A creeping vine is heterozygous for oval leaves.  If it is crossed with another vine that is homozygous for round leaves, what will the leaves of the offspring look like?  (Oval leaves are dominant (O) – Round leaves are recessive (o)). 

4. If a male black widow that is homozygous for large eyes mates with a female that is also homozygous for large eyes, what will the eyes of the offspring look like? (Small eyes are dominant (E) – Large eyes are recessive (e)).

5. A female Rebop is heterozygous for curly tail. If it mates with a male Rebop that is homozygous for straight tail, what will the offspring look like if curly tail is dominant (C) and straight tail is recessive (c)? 

6. Predict the offspring of a male purple people eater that is homozygous for curly horns that mates with a female that is heterozygous for curly horns.  (Curly horns are dominant (H), straight horns are recessive (h).

